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Note : Attempt questions from each Section as 

per instructions given. 

 Section—A  

Note : Attempt any two questions from this 

Section in about 700 words each. 2×20=40 

1. Examine the interlinkage between  

economic development and changes in 

fertility level. Discuss it in context of Indian 

experience. 
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2. In the absence of convergent growth pattern, 

what are the various programmes 

undertaken to reduce regional disparities in 

India ? 

3. “Access to markets is critical to the growth 

of high-value agriculture.” In the light of 

this statement, explain the policy initiatives 

taken by the government. 

4. How vulnerable is Indian economy to 

external shocks ? What has been the role of 

monetary policy in mitigating such shocks ? 

 Section—B  

Note : Attempt any five questions from this 

Section in about 400 words each. 5×12=60 

5. How far India’s fiscal policy is effective in 

mitigating inflation ? 

6. Discuss why growth of external debt is a 

serious challenge to policy markers in 

developing economy. 

7. Evaluate the role of India’s industrial policy 

in promoting non-farm employment. 

8. Discuss the role of public policy to attract 

Foreign Direct Investment (FDI). 

9. Explain the reasons for low female work 

participation in India. 
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10. Explain why disinvestment in some public 

enterprizes is desirable. 

11. What are the major constraints taking 

advantage of demographic dividend in  

India ? 

12. Explain any three of the following : 

(a) Direct Benefit Transfer (DBT) 

(b) Application of Gini Coefficient 

(c) Minimum Support Prices (MSP) 

(d) Fiscal Deficit 

(e) Objectives of Fiscal Policy 
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 MEC–105 

,e- ,- (vFkZ'kkL=) (,e- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-&105 % Hkkjrh; vk£Fkd uhfr 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd Hkkx ls iz'uksa ds mÙkj fn, x, funsZ'kkuqlkj nhft,A 

 Hkkx&d  

uksV % bl Hkkx esa ls fdUgha nks iz'uksa ds mÙkj (izR;sd) yxHkx 

700 'kCnksa esa nhft,A 2×20=40 

1- vk£Fkd fodkl vkSj iztuu Lrj esa ifjorZu ds chp 

varlZEcU/k dh tk¡p dhft,A bldh ppkZ Hkkjrh; vuqHko 

ds lUnHkZ esa dhft,A 

2- vfHklkjh lao`f¼ <k¡ps ds vHkko esa] Hkkjr esa {ks=h; fo"kerk 

dks de djus ds fy, D;k fofHkUu dk;ZØe viuk, x,  

gSa \ 
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3- ßmPp&ewY; Ïf"k ds fodkl ds fy, cktkjksa rd igq¡p 

egRoiw.kZ gSAÞ bl dFku ds izdk'k esa ljdkj }kjk yh x;h 

uhfrxr igyksa dh O;k[;k dhft,A 

4- Hkkjrh; vFkZO;oLFkk cká /kDdksa ds izfr fdruh 

laosnu'khy gS \ ,sls /kDdksa dks de djus esa ekSfnzd uhfr 

dh D;k Hkwfedk jgh gS \ 

 Hkkx&[k  

uksV % bl Hkkx ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx 400 'kCnksa 

(izR;sd) esa nhft,A 5×12=60 

5- Hkkjr dh jktdks"kh; uhfr eqnzkLQhfr dks de djus esa 

fdl gn rd izHkkoh gS \ 

6- ppkZ dhft, fd D;ksa c<+rk cká ½.k] ,d fodkl'khy 

vFkZO;oLFkk esa uhfr fuekZrkvksa ds fy, xaHkhj pqukSrh gSA 

7- xSj&Ïf"k jkstxkj dks c<+kus esa Hkkjrh; vkS|ksfxd uhfr dh 

Hkwfedk dk ewY;kadu dhft,A 

8- fons'kh izR;{k fuos'k (FDI) dks vkd£"kr djus esa 

lkoZtfud uhfr dh Hkwfedk dh ppkZ dhft,A 

9- Hkkjr esa de efgyk dk;Z&Hkkxhnkjh ds dkj.kksa dh O;k[;k 

dhft,A 
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10- Li"V dhft, fd dqN lkoZtfud m|eksa esa fofuos'k 

okaNuh; D;ksa gSA 

11- Hkkjr esa tukafddh; ykHkka'k ds Qk;ns mBkus esa izeq[k 

ck/kk,¡ D;k gSa \ 

12- fuEufyf[kr esa ls fdUgha rhu dks Li"V dhft, % 

(v) izR;{k ykHk varj.k (DBT) 

(c) fxuh xq.kkad ds vuqiz;ksx 

(l) U;wure leFkZu ewY; (MSP) 

(n) jktdks"kh; ?kkVk 

(;) jktdks"kh; uhfr ds mís'; 

× × × × × 

 

 

 

 

 

 

 

 


